Circular Measures 2 (Radians) Answers

iy (i) < AOB=tan""10/6 = 1.03 B1
8 {H) Ac AB =8 x1.03 pB=vior—6i-g wmt
Perimeter =6.18 + 566 + 10=218 "m1 Al
(iiii) Sector ADB =1/2x8°x 1,03  Area XAB =1/2x 10xB - Sedlor AOB = 11.5! M1 M1A}
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(i) (r+6)*+5 =(r+7)f M1
Solve = r =6 M1 A1
tan AOB = 5/12 AOB = 0.395 or 22.6° M1
Length of arc AB = 6 x 0.395 = 2.37 or better M1 A1
(i) Sector AOB = %% x 62 x 0.395 = 7.11 M1
Shaded area=%2x5x12-7.11 M1
All figures in sector and triangle correct vV A1V
[10] 22.9 or better A1




10. (i) Area = A — sector

BCA =1 — 1.4 or height = 20sin0.7 M1 Award for either of these.
8 A = 4.20%sin(n —1.4)
0 or 2bh =197.1 M1 Correct method for area of A
i\ .
' & Sector = %420%0.7 = 140 M1 Use of %r’8
90 — Area = 57.1 A1 Co
A [4]
(i) DC=20x0.7 (=14) M1 Use of s = r8
AB = 2 x 20c0s0.7 or cos rule M1 Correct trig — could gain this in (i)
BD =AB-20=10.6 M1
— Perimeter = 44.6 A1 Co

[4]
Could be [5] + [3] if AB used in part (i)

4) :)2 () ~«BOD=2sin"0.8=1.855(106.3°) or £ BOE = 0.927 (53.1°) M1 A1
ZBAD =2 Z/BOD = 0.927 (53.1°) or £ BAE = 0.464 (26.6°) M1 A1
[or Oto BD = (102 —8%) = 6, Z/BAD = 2tan ' 8/16]
AB = 8/sin(%4 £BAD)=17.9  [or via (8 + 167)] M1 A1
(i) Perimeter = (10 x 1.855) + (17.89 x 0.927) [or degrees x 7/180] = 35.1 M1 A1
(iii) Useof %r?0 or %r?(6-sinb)
(radians or degrees x %) M1
Complete plan M1
Segment BCDB = ' 10% x 1.855 — % 16 x 6 = 44.75
Segment BEDB = % 17.9° x 0.927 — % 16 x 16 = 20.3~5  Area = 24.2~5 A1 [11]
5)
1 (9) (1) [BOD is diameter.] Realises most, or all, of ZDOA= Z0OAC= £ACO= ZCOB | M1
All these angles = -250r2.5- ZAOC [or LCOB=x, ZAOC=25~-x]
ZsofA=mw or ZsonBOD=w or ZDOA=w-25=25~ LZA0OC= £COB | M1
to find £ AOC directly [orfind x=w-25& hence ZAOC] = 5-m (=~186)| Al
(i) Sector = % x12*x(5-m) (=1338~9) M1
Sector —A(anymethod) = ( ) = % x 12 xsin(5-m) = 64.7~9 M1 A1
(i) Length AC (any method) [2x12xsin{%(5-m)} = 19.2] M1
Length AC + lengthofarc = ( ) + 12(5=-m) =~ 415~ 6 M1 A1




